MEMRABO

your freetime on the move

Made in Italy

FIX 604FP

PROFESSIONAL

Istruzioni di montaggio
Fitting instructions
Montageanleitung
Instructions de montage
Instrucciones de montaje
Navod na montdaz
Monteringsvejledning
Odnyiec ouvappoAdynong
Paigaldusjuhend
Asennusohje

Uputa za sastavljanje

A felszerelés médja
Stiprinasanas instrukcija

NL
NO
PL
PT
RO
RU
SK
SL
sV
TK
ZH
AR

Pritvirtinimo instrukcijos
Instrukcja montazu
Monteringsveiledning
Instrukcja montazu
Instru¢cdes de Montagem
Instructiuni de montare
NHCcTpyKuMn no ycTaHoOBKe
Navod na montaz
Navodila za pritrjevanje
Monteringsanvisning
Uydurma talimat
KEEE

Qs Slaalss

Il ® &



N. g Egmsgg:::is((llr:]((llﬁld) E CDtiJEmlponéntes (Inclmolh). genthal Q N. g ggaarg] sia(rlt\s'z;\ﬁgig:‘tagorder) E IE’iTeiiellst(iaeurfegrﬁ]gis)(Previa solicitud) Coldi.ce -Code Q
I (omposants (Comprises)  ETM KomnoHeHTbi (B KomnsiekTe) Il Pieces de rechange (Surcommande) I 3anackble yactvt (1o 3anpocy) Cédigo - ko )
1 2 2 700035600000 1
4
700031800000 9
2 2
5 6
6 ammr() M6x16 4
7 ammr (9 M6x20 700034300000 | 2
3 2
8 2
9 4
4 4 11 700025000000 1
5 5 12 700025300000 4
- ! | OPTIONAL KIT
7 2 ————————————————|
N. Art.000084800000 Q.
8 2
13 4
9 4
14 — ) XXXX 4
11 1 15
12 2
\ J




O 5mm-0,2" MJ




X2

5 Z6X18 | 2

7 | commmr(d M6x20 | 2

4

@6X18

6 | amm(d M6x16 | 4







X2

/
\
) o— %

7z




@— OPTIONAL KIT

Art.000084800000

]

150kg/330,7 Ib

100kg/220,5Ib

50kg/110,2 Ib

|

e}

|

i




F.lli Menabo S.r.I.

Via 8 Marzo, 3

42025 Cavriago (RE)

Tel. +39-0522/942840

Fax. +39-0522/942948
e-mail: info@flli-menabo.it
www.flli-menabo.it

Cod.Istr.

Data

Creato da

Approvato da

500028500000

04/05/2018

NP

EL




